4.5 In-class Practice

1.

Solve.
a) 3X—4 — 72x+5 b) e3X=7.o72%X = 4p
c) 3(2)*?%+1=100 d e*—6e*+8=0
X
e (5) =-9 f) 3e? + 2% =
Solve.
a) log,(x3+37)=3 b) Inx+1Inx?=3
c) logz[(x+5)(x—-3)]=2 d) logx +log(x + 15) =2
e) log(x + 25) =log(x + 10) + log4 f) log(x —10) —log(x — 6) =log?2
g Ine* —Ine3=Ine3 h) logx = ./logx
i) log,V2x? =2 ) e*+6e =

Solve for the given variable.

Pr

m, for n

a) r=p-—kint, for t b) A=

Solve by using a graphing calculator. Round solutions to the nearest hundredth.
a e*+Ilnx=5 b) Inx=-Vx+3

Find f~1(x) and give the domain and range of 1.
a) f(x)=e**1—14 b) f(x)=2In3x



